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4. During the examination:
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question.

c) Completely darken the relevant circle against the Question in the O.M.R. Answer Sheet. For
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O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. &) ® © (Only example) (Use Ball Pen only)

5. Rough work should be done only on the blank space provided in the Question Booklet. Rough work should
not be done on the O.M.R. Answer Sheet.
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1) The addition of the matrices h o OJ and |, 5| gives
3t g

A) 3x3 matrix
B) 3x2 matrix
C) 2x3 matrix
D) None of these

d-1h
2) The value of the determinant | ., is
A) db-ca
B) da-cb
C) dc+ba
D) db+ca

3) If Ais a matrix of order m x n and B is a matrix of order n x p then order of AB
| 1s :

A) pxm
B) pxn
C) nxp
D) mxp

4) Maximum number of components of a vector may be
A) One
B) Two
C) Three
D) Infinite
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5) Displacement is a

6)

7)

8)

A)  Scalar quantity
B) Vector quantity
C) Base quantity
D) Derived quantity

2

y . dy

If y=e*+1 then ——+—=
I = 2 e

- |

Find the critical point and its nature for the function f(X,y)=x?-2x+2y*+4y-2.

A) (1,1), a maximum
B) (1,-1), a maximum
C) (1,1), a minimum

D) (1,-1), a minimum

Find the minimum distance from the point (4, 2) to the parabola y? = 8x.

A) 43
B) 22
C) 3
D) 23
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9)

10)

11)

12)

13)

14)

15)

Every natural number is also
A) TIrrational number B) Even integer

C) Negative integer D) Rational number

Regular grammar is
A) Non context free grammar B) Context free grammar

C) English grammar D) None of the mentioned

Two concentric circles are of radii 13 cm and 12cm. What is the length of the

chord of the larger circle which touches the smaller circle?
A) 8cm B) 10cm
C) 6cm D) 4cm

Formula used to measure area of circle is
A) 4nr? B) mr?
C) 2mr D) w2+ 2r

The line perpendicular to the tangent line is called
A) normal line B) secantline
C) limit D) derivative

Which of the following is a prime number?
A) 31 RBJ . 33
€) 33 By 39

In a class there are 20 boys and 15 girls. The ratio of boys to girls is:
A) 4:3 B) 3:4
) - @53 D) None of these
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16) Aand B can together complete a piece of work in 4 days. If A alone can complete
the same work in 12 days, in how many days can B alone complete that work?

17)

18)

19)

20)

21)

A) 4 days B)
C) 6 days D)

5 days
7 days

CALANDER is coded in a code as CLANAEDR. Find the code for

CIRCULAR under the same rule.
A) LACANDER B)
C) CLANADER D)

Sin (90° — x) equals?

CRIUCALR

None of these

A) - 8in x B) 1-Sinx
C)- Cosx D) Cosec x
What comes next in the sequence: 1, 2, 6, 22, ?
A) 82 B) 84

C) 86 D) 88
Circuit that is said to be universal gate is

A) AND B) OR

C) NAND D) XOR
Which number system has a base of 16?

A) Decimal B) Octal

C) Hexadecimal D) None of these
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22)

23)

24)

25)

26)

27)

How many truth table entries are necessary for a four-input circuit?
A) 4 B) 8
G D) 16

The Boolean expression for a 3-input OR gaté is
A X=A+B B) X=A+B+C
€) "X =ABC D) X=A+BC

EBCDIC stands for

| A) Extended Binary Coded Decimal Interchange Code

B) Extended Bit Code Decimal Interchange Code
C) Extended Bit Case Decimal Interchange Code

D) Extended Binary Case Decimal Interchange Code

Positive integers can be represented as
A) Signed numbers B) Unsigned numbers
C) Negative integers D) BothAandB

Which numbering system uses numbers and letters as symbols?
A) decimal B) binary
C) octal D) hexadecimal

The decimal number for octal 74, is
A) 60 B): 22
C): 62 D) 74
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28) Convert decimal 213 to binary.

29)

30)

31)

32)

A) 11001101 B) 11010101
C) 01111001 D) 11100011

If the radix point(binary point)is fixed and assumed to be on the right of the
right most digit, the representation of such numbers is called

A) Fixed point B) Floating poinf
C) Radix point - D) None of these

MSD stands for

A) Most significant digit
B) Many significant digit
C) BothA&B

D) None of these

The value of K for which the circles x*+y?-3x+ky-5=0 and 4x*+4y?-12x-y-9=0
becomes concentric is
s

1
B) -g

o Y D) -Y

00 | k=

A)

Which of the following is called low level languages?
A) Machine language B) Assembly language
C) BothA&B D) None of above
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44) Who was the door?

A) at B) on
€): in : D) of
45) AutoCorrect was originally designed to replace words as you
type.
A) short, repetitive B) grammatically incorrect
C) misspelled D) none of the above

46) Internet works on
A) = packet switching - B) circuit switching
C) both (A) and (B) D) none of the mentioned

47) Bluetooth is an example of.
A) personal area network B) local area network

C) Virtual private network D) none of the mentioned

48) A set of rules that governs data communication

A) Protocols ; B) Standards
C) REFCs D) None of the mentioned

49) refers to any type of application or presentation that involves
more than one type of media, such as text, graphics, video, animation, and
sound.
A) An executable file B) . Desktop publishing

C) Multimedia D) Hypertext

50) What does GUI stand for?

A) Gaming User interface B) Graphical User Interface
C) Geometric User Interface D) Guidance User Interface
M R
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~ 38)

39)

40)

41)

42)

43)

What is the output of lexical analyzer?

A) parsetree 4 B) A list of tokens
C) Intermediate code D) Machine code
What is interpreter?

A) An interpreter does the conversion line by line as the program is run
B) None of the options '
C) An interpreter is the representation of the system being designed.

D) An interpreter is a general purpose language providing very efficient
execution

Which is not application software?

A) Windows NT B) Page Maker

C) WinWord XP D) Photoshop

Which of the following device can be used to directly scan printed text?
A) OCR B) OMR

C) MICR D) All of above

The autofill feature

A) Extends a sequential series of data

B) Automatically adds a range of cell values
C) Applies a boarde;r around selected cells
D) None of above

How are data organized in a spreadsheet?
A) Lines and spaces B) Layers and planes
C) Rows and columns D) Height and width
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